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Attempt All questions.
ol g B 3w A

1. What are the four types of categorical propositions ? Explain
with examples.

R YR & ety oF am $9-2 §2 sl wha

A | -3
Or/gar

It is impossible for the premises to be true when the

conclusion is false. Explain.
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(2)
o ey ST B T YR AR R § 8 S
B 1w
Explain the traditional sqﬁare of opposition.
vomr foly o # smen Fife) 6
Or/3qa

If “some logicians are musicians” is true what ¢an be
inferred about the following? (any three) :

a2 “Ep TRl wiew ¥ @ frefafes @ 9§
N FIAR T W OEET §7 (B )
(i) Some non-musicians are logicians.
w8 A-Giiiay TR T
(i) Al logicians are non-musicians.
wft Teuet -wien ¥
(#fi) No logicians are non-musicians.
HE f TREE S-Tieg A€ ¥
(iv) Some logicians are not musicians.
FP dEIE Wiieg A §)

Give the converse and obverse of the following (Do any
three) :

freffn w0 oo oiR R AR (2 A9) -
§

()  No politicians are policemen.

- HE Ueifaw fauE =€ §



(i)

{iit)

(iv)
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Some gir]s are not emotional people.
B T WEE e W oA ¥
All poets are creative people.
v Ffa = Afs W

Some graduates are politicians.

P FOE TSR )

Use truth table method to test the validity/invalidity of any
one of the following : 5

T ol fafy g frafafea gfedi § 3 feedt o
) AuAY/SAE K vl AT

(1)

(if)

pv (~q.~rn

P> ~(rglo.p> ~q
p-q

roa s

pv rtlogv s

Symbolize any three of the following propositions :

frafafes & @ 5= 9 =) Wl 4 fafan ¢ 3

)

(i)

Brazil will not protest and Argentina will not change
the policy.

sl ol et e aen owi= ot Hfy T
HEA |

If Argentina ;hanges the policy and Brazil protests
then Chile will call for a meeting,

[P.T. O
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(iif)

(iv)

(@)

(&)

(4)
afe st o Hifa agaa ¥ o smsier fady
w@ ¢ o ot g R/ Femm

Brazil will protest only if Argentina changes the policy
or Chile calls for a meeting.

Srsite ferlly B3 dhae aft @ s i seem
o foeft T = qemam)

Brazil will not protest unless Argentina changes the
policy

sl fole @ w O w9 o 5 ew=A Hifa
T e |

Prove the logical status (Tautologous. contingent or
contradictory) of the following through truth table
method (any two) :

Fefafen #1 afes oftffiefs (wow, o,
FrT) we-wRen fafy g fuifa wifee (6
) - 5
M p>49.p1>~{~p.~q v ~p]
@ v @ogl=[pv @92 (v Pl -
@ p>29 .~qv @5 ~{p.~q)

If A and B are true and X and Y are false determine
the -truth/falsity of the following (any one) :

e A R B @ ¥ el X @Ry stmw, @
frafafas = wom/oma fefn it (3
T&h) : ' 2
() (A>B)v (XY)
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(i) (Av ~B)2> X>~Y)

Test the validity/invalidity of the following argument form

by using the reductio ad absurdum technique (any o)

frefafad it SR ®1 Sy STEYm # 9o
o faf (et @@ T faft) g | S

(2N 10
(i pv @2~1
~po>~ql.pv 1
() pv ¢
Q>n> S
pD> SSv o1
(i) p>2q .0>DY
pv rfhgv S
(a) Define the following expression into stroke function
(any one) :
fretfeea st i L wer § aftia it
(FF% TH) : 5
~pD@v DOAAA pv (~q2 )
(b) Define (p D q) D ~ r in terms of (i) ~" and *’

»

(i) *~" and ‘v
(P> Q) D ~rH ()~ qW T () - W@
v * # aftwfim =i 5

Construct a formal proof of validity for any fwo arguments
by using the rules of inference.

[P. T. O.
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10.

(6)

frfafen fadt < gfwrll 1 Sen =1 sreom yamr,
FAF & Pl # wema ¥ wea Wit 2 10

ty

(ir)

(iii)

ADB

Bo C

D> E

Av D/-Cv E
ADB
(Ao>C)o>(Dv B)
(ABy> C

~ D/~ B

EF

(Ev G)> H/-.EH

Symbolize the following (any five) using quantifiers and
notation of proportional functions.

Trefefea (= wre) =) sfmoet 9 o aes

SR % 3N AR Fifwu) 10

() Only Male philosophers have beards. (Mx: Bx)
9 69 AR B T o

(ii) Few Austrahans live in poverty. (Ax; Fx)
FO AR et F w §

(éif) Not all hairdressers are degree holders.(Hx; Dx)
Tl Im TS ae fehud 55 @9

(iv) Nothing is both physical and mental (Px; Mx)

a2 ot 99 A e qm aefes T a9
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(v) Some solids are not soluble in water. (Sx; Wx)

%9 3@ ot qowia T

(vi) All birds fly. (Bx; Fx)
w98 334 T
(vii) John 1s a dancer. {Dx; In)
R TEE
(viii) Some girls are hard working. (Gx: Hx)

FT agfeEdl Agad o F
Write short notes on any two of the following :
(i)  Sentence and Proposition
(i) Quality and quantity
(iif)y Distribution of terms
frefafea 4 | 6 @ W ofyw § A fafay -
() daEg IR 9% T
(i) TuEw qq gfem
(i) TEI I ST 5
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